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N = 0 &8 AF S & Al A
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M WE NS (Lets3Y/NSSHH - THEXH)
CHRl: XAl Mo =0l el (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
Xl e Al 966, 130 935,630 30,500
Al 30,000 0 30,000
= 936, 130 935,630 500
HWE XA (LetsSSHY/ILHE - HEXH) 821,012 790,512 30,500
Al 30,000 0 30,000
o 791,012 790,512 500
KEHAl Hgoo S8Xol Mg 96,140 65,640 30,500
Al 30,000 0 30,000
o 66, 140 65,640 500
XA 2 M 42,140 41,640 500
203 LR =& 4,300 3,800 500
03 AMZ=XA2=ZXIY| 4,300 3,800 500
OXNYMA=ZU 2t3 ZA 4,300,000 4,300 3,800 500
HMgMd 2% 825 Bt 30,000 0 30,000
Al 30,000 0 30,000
201 LAY 18,700 0 18,700
Al 18,700 0 18,700
01 AFR22(H] 15,820 0 15,820
oY= (HEH) 5,760 0 5,760
OMYAN HE=Sy M2 2
480,000 1CH*12& 5,760 0 5,760
Al 5,760 0 5,760
ou=H(88N) 10,060,000 10,060 0 10,060
Al 10,060 0 10,060
02 322gH4| 2,880 0 2,880
OdEH(88HN) 2,880 0 2,880
OMYAN AHEsSy M2 HSH|
60,000& *43F=+12& 2,880 0 2,880
Al 2,880 0 2,880
202 0OiHl 11,300 0 11,300
Al 11,300 0 11,300
01 2| 11,300 0 11,300
OZHHHI(H&HA) 11,300,000 11,300 0 11,300
Al 11,300 0 11,300




